
week 11 SI Answers :

I
, A.

si÷=s÷⇒⇒a= • sinus]
Sings]

A -418 a= ?
a--110.6

B- 30° b= ?
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A- 1-300+146,990=1800
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ee :
119.41 a = 7.04
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find angle A or C

1- 1- Btc : 1800
a. 5inch SINCB)

bZ=a2tcZ- Zac COSB a-
=

b- 11,796+11>Otc -480

C=5 1,204
sina.AS-si-BJ-eb-F.EE

b

b=ÑÉÉcosÑ
A- sin"(%? = " .

>96°

b. = 69,24
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• First

,
find an angle

,
usually the ftp.i-c:1800

a- 59 A :S>"4° largest one = > sina.CA#=SinyB)- g >
440+89.68011=1800

6=70 B' 8468°
⇒ b2=af+Eza[ COSCB) 1=3-2.870

sina.AJ-singB-a.cz38 C-32.820 Ñ-zb?=cosB
B-- cos-YY.LI??z--jJ--8a.-8A--sin-i(sinC8Yfe89's4- =sz4
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=> SINA) Since B)bÉaZtc?zacCosCB)

A- = ? a- 10 a-= b-

B- 34° b= ? b=jFÉÉ34°) si¥=÷÷:÷
C= ? V40

b--32.1489

A- sin"(Y%%%= 10.001°

AtBtc= 1800

1001-34011--1800

2=1360
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A
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c=É+ÉÉ>8)
218 172

b 7-80 a
c--248 meters
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sina.CA)=sin§B#
b
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b?aZtcZ -zaccoscb)

b=FÉt°> '36°

A=giñi(1028%(3%-369)=19. >>
°

108 be 22.1.76 or

µ
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A--1800- sin
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is 14.77°

0

-

at:b
> to- ZBCLOSLA)

C.
a.

r
.
-

.

.

'

" ° a=JFFÉÉ)iosC34°)
101 3%

d=623


